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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: 
A. design
B. preserve
C. basic
D. physical

Question 2: 
A. continued
B. mixed
C. dressed
D. hiked
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: 
A. actor
B. career
C. rubbish
D. cocktail

Question 4: 
A. adventure
B. advantage
C. advertise
D. adverbial
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5: When a fire broke out in the Louvre, at least twenty__________paintings were destroyed, including two by Picasso.


A. worthless
B. priceless
C. valueless
D. worthy

Question 6: Without__________, all the resources necessary for life would be damaged, wasted or destroyed.


A. conversation
B. biodiversity
C. extinction
D. destruction

Question 7: Unfortunately, the company closed down because it couldn’t keep 
with rapidly

changing technology.


A. speed
B. time
C. fast
D. pace

Question 8: No way will you beat him. You don’t__________a chance. He’s a hundred times better than you are.


A. hold
B. run
C. possess
D. stand

Question 9: My college graduation was a real__________day for my whole life.


A. red brick
B. red ink
C. red tape
D. red letter

Question 10: Lack of funds prevented him__________continuing with his studies.


A. to
B. with
C. in
D. from

Question 11: The International Red Cross helps people in need without any discrimination based on__________, race, religion, class or political opinions.


A. national
B. nationally
C. nationality
D. native

Question 12: The Principal usually has his pupils__________waste paper for their mini-project.


A. collected
B. collect
C. to collect
D. collecting

Question 13: They live on a busy road. __________
a lot of noise from traffic.


A. There must be
B. It must be
C. It must have been
D. There must have

Question 14: __________broken several world records in swimming.


A. She is said that she has
B. People say she had


C. She is said to have

D. It is said to have

Question 15: The captain as well as all the passengers__________very frightened by the strange noise on their last voyage.


A. are
B. was
C. is
D. were

Question 16: It is imperative__________what to do when there is a fire.


A. he must know about

B. that everyone know


C. that he knew

D. we knew

Question 17: __________he arrived at the bus stop when the bus came.


A. Hardly had
B. No sooner had
C. Not until had
D. No longer has

Question 18: The room needs__________for the wedding.


A. decorating
B. to decorate
C. decorate
D. be decorated
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: The whole village was wiped out in the bombing raids.

A. removed quickly
B. cleaned well
C. changed completely
D. destroyed completely

Question 20: Trees have to be pruned seasonally or annually to ensure that they continue to bear fruit.


A. harvested
B. trimmed
C. weeded
D. fertilized
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: She was too wet behind the ears to be in charge of such demanding tasks.


A. lack of responsibility

B. full of experience


C. without money

D. full of sincerity

Question 22: There is no excuse for your discourtesy. Think twice before you are going to say anything.


A. politeness
B. impoliteness
C. bravery
D. boldness
Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Jolie is reading a magazine on famous people, asking her friend.

-
Jolie: “Do you think celebrities today tend to focus more on wealth rather than achievements?”

-
Jolie’s friend: “__________. And this sets bad examples for young people.”


A. It’s out of the question 
B. I think you’re right on this


C. Not at all

D. I think they focus more on achievements

Question 24: Rose is talking to her friend on the phone.

-
Rose: “Could you pick me up at the airport tomorrow?”

-
Rose’s friend: “__________. I will be in a meeting then.”


A. I’m afraid I can’t 
B. Sure
C. Yes no problem
D. It’s so soon
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.


The invention of the mobile phone has undoubtedly revolutionized the way people communicate and in-fluenced every aspect of our lives. The issue is whether this technological innovation has (25) __________more harm than good. In order to answer the question, we must first turn to the types of consumers. Presumably, most parents (26) __________are always worrying about their children’s safety buy mobile phones for them to track their whereabouts. We can also assume that most teenagers want mobile phones to avoid missing out on social contact. In this context, the advantages are clear. (27) __________, we cannot deny the fact that text messages have been used by bullies to intimidate fellow students. There is also (28) __________evidence that texting has affected literacy skills.


The widespread use of mobile phone has, out of question, affected adult consumers too. What employee, on the way home from work, would be reluctant to answer a call from their boss? Apparently, only 18% of us, according to a survey, are willing to switch off our mobile phones once we’ve left the office.


Admittedly, mobile phones can be intrusive but there are obvious benefits to possessing one. Personally speaking, they are invaluable when it comes to making social or business arrangements at short (29) __________. They also provide their owners with a sense of security in emergency situations.

Question 25: 
A. done
B. played
C. made
D. brought

Question 26: 
A. which
B. whom
C. who
D. what

Question 27: 
A. Moreover
B. However
C. Therefore
D. So that
Question 28: 
A. indisputable 
B. indisputably
C. dispute
D. disputation

Question 29: 
A. time
B. warning
C. term
D. notice

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.


Over the past 600 years, English has grown from a language of few speakers to become the dominant language of international communication. English as we know it today emerged around 1350, after having incorporated many elements of French that were introduced following the Norman invasion of 1066. Until the 1600s, English was, for the most part, spoken only in England and had not extended even as far as two centuries. English began to spread around the globe as a result of exploration, trade (including slave trade), colonization, and missionary work. Thus, small enclaves of English speakers became established and grew in various parts of the world. As these communities proliferated, English gradually became the primary language of international business, banking and diplomacy.


Currently, about 80 percent of the information stored on computer systems worldwide is English. Two thirds of the world’s science writing is in English, and English is the main language of technology, advertising, media, international airports, and air traffic controllers - Today there are more than 700 million English users in the world, and over half of these are nonnative speakers, constituting the largest number of nonnative users than any other language in the world.

Question 30: What is the main topic of this passage?


A.
The French influence on the English Language.


B.
The long history of English language.

C. The expansion of English as an international language.


D. The use of English for Science and Technology.

Question 31: Approximately when did English begin to be used beyond England?


A. In 1066.
B. Around 1350.
C. Before 1600.
D. After 1600.

Question 32: According to the passage, all of the following contributed to the spread of English around the world EXCEPT__________.



A. the slave trade
B. the Norman invasion 
C. missionaries
D. colonization

Question 33: The word “enclaves” in paragraph 1 could be best replaced by which of the following?


A. communities
B. organizations
C. regions
D. countries

Question 34: The word “these” in paragraph 2 refers to__________.


A. English users
B. computer systems 
C. international airports D. air traffic controllers
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.


One of the most beloved foods in the world, chocolate is not just a modern treat. In fact, chocolate - or rather, cacao seeds - has been part of our culinary history for thousands of years.


More than 2,000 years ago in Central America, the Mayan people began consuming a drink made from cacao seeds. There was no sugar in America in those days, and so they flavored the drink with chili peppers and other spices. It was called xocolatl, meaning bitter water. The Mayans used xocolatl for important rituals, such as religious ceremonies or weddings, and believed that consuming it would enhance their health and cure illnesses. Cacao seeds became highly valued throughout Central America, and were even used as currency by the Aztecs.


On his fourth voyage to America in 1502, the explorer Christopher Columbus landed in what is now called Nicaragua. He was the first European to discover cacao seeds being used as money, but he did not consider it very significant. It was only later, in the 16th century, that another explorer, Hernando Cortez, saw cacao’s value, and brought the drink and the equipment used to make it back to Spain. The Spanish didn’t quite take to the bitter taste, and added other ingredients such as sugar and vanilla, so that chocolate more closely resembled the sweet treat we know today.


As popular as chocolate was in Spain, it didn’t spread to the rest of Europe until nearly a hundred years later, when a Spanish princess married the French king and made chocolate fashionable. By the 17th century, the chocolate drink had gained widespread popularity in France, and an ambitious Frenchman opened the first chocolate house in London. Soon, chocolate drinks were sold everywhere in London, and English bakers began using it in cakes - the first mention of chocolate being eaten and not drunk.


But the biggest development in modem chocolate consumption happened by accident in 1828. C. J. van Houten, a Dutch chemist, discovered a method for making powdered chocolate when he tried to extract oils from cacao to make the drink smoother. This product became known as “cocoa powder.” Not long after, in 1847, a British man named Joseph Fry developed “eating chocolate,” which were chocolate bars made of cocoa powder, cocoa butter, and sugar. This led to the first milk chocolate bars, sold by Nestle, a Swiss company. These were created by adding condensed milk to Fry’s chocolate bar recipe. Fry’s company, Fry & Sons, was later bought by Cadbury. Today, Nestle and Cadbury remain the world’s leading chocolate producers.
Question 35: What best serves as the title for the passage?


A. Chocolate: a Brief History
B. Cooking with Chocolate


C. Making and Eating of Chocolate
D. Uses of Chocolate

Question 36: Which is NOT mentioned as a use for chocolate?


A. money
B. medicine
C. decoration
D. drink

Question 37: The word “culinary” in paragraph 1 is closest in meaning to__________.


A. traditional

B. connected with food


C. modem

D. connected with humans

Question 38: Where did chocolate originate from?


A. Spain
B. Britain
C. Holland
D. America

Question 39: The word “it” in paragraph 2 refers to__________.


A. xocolatl
B. cacao seed
C. sugar
D. water

Question 40: The word “take to” in paragraph 3 is closest in meaning to__________.


A. cook
B. develop
C. enjoy
D. accept

Question 41: What did C. J. Van. Houten do as a contribution to the history of chocolate?


A.
He discovered a new way of having chocolate.


B.
He added sweet taste to chocolate.


C. He made chocolate into bars.


D.
He used it to make medicine.

Question 42: What is NOT true about modem chocolate bars?


A.
They are made of cocoa powder, cocoa butter and sugar.


B.
They were developed by a British person.


C. They were sold by Nestle and Cadbury.


D. Nestle chocolate bars are the same as those developed by Joseph Fry.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: The young are thought to be the future leaders of the country, and it is essential that they 
                                A                                                                            B

should undestand their heritage as full as possible.

               C                                                  D

Question 44: Digital clocks, however precise, they cannot be perfectly accurate because the earth’s 
                                                            A             B                                     C

rotation changes slightly over years.
                    D

Question 45: A novel is a story long enough to fill a complete book, in that the characters and events 
                                                             A                            B                        C

are usually imaginary.
                         D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: The film didn’t come up to my expectation.


A. I expected the film to end more abruptly.


B. I expected the film to be more boring.


C. The film fell short of my expectation.


D. The film was as good as I expected.

Question 47: “Be careful or you may get lost and run out of money,” she said.


A.
She told me to be careful if I got lost and run out of the money.


B.
She warned me to be careful or I had to get lost and run out of money.


C. She ordered me to be careful and I might get lost and run out of money.


D. She advised me to be careful or I might get lost and run out of money.

Question 48: Although the teacher explained the theory clearly, the students found it hard to understand it.


A.
Though explained clearly, the theory of teaching was difficult to the students.


B.
Despite the teacher’s clear explanation of the theory, the students had difficulty understanding it.


C. In spite of explaining the theory clearly, the students themselves found it hard to understand it.


D. Although the teaching theory was clear, it was a real challenge to the students.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: We should quickly find the solution to the problem. Otherwise, its impact on those concerned will increase.


A.
If we can solve this problem soon, we’ll lower the impact on all of our concerns


B.
By the time we solve this problem, the impact on those concerned will have been lowered


C. If all those concerned lower their impact, the problem will be better solved


D. The sooner we find the solution to the problem, the lower the impact it has on those concerned.

Question 50: Luisa was very disappointed when she failed the exam. I’m sure about that.


A.
Luisa must be very disappointed when she failed the exam.


B.
Luisa must have been very disappointed when she failed the exam.


C. Luisa may be very disappointed when she failed the exam.


D. Luisa could have been very disappointed when she failed the exam.
Đáp án

	1-C
	2-A
	3-B
	4-C
	5-B
	6-B
	7-D
	8-D
	9-D
	10-D

	11-C
	12-B
	13-A
	14-C
	15-B
	16-B
	17-A
	18-A
	19-D
	20-B

	21-B
	22-A
	23-B
	24-A
	25-A
	26-C
	27-B
	28-A
	29-D
	30-C

	31-D
	32-B
	33-A
	34-A
	35-A
	36-C
	37-B
	38-D
	39-A
	40-C

	41-A
	42-D
	43-D
	44-B
	45-C
	46-C
	47-D
	48-B
	49-D
	50-B


LỜI GIẢI CHI TIẾT

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: Đáp án C
A. design /dɪˈzaɪn/
B. preserve /prɪˈzɜːv/

C. basic /ˈbeɪsɪk/

D. physical /ˈfɪzɪkl/
Question 2: Đáp án A
Động từ ở phương án A kết thúc là nguyên âm /u:/, nên -ed được phát âm là /d/, động từ ở các phương án B, C, D kết thúc lần lượt là các âm /s/, /s/ và /k/ nên -ed được phát âm là /t/.

A. continued /kənˈtɪnjuːd/
B. mixed /mɪkst/

C. dressed /drest/

D. hiked /haɪkt/
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: Đáp án B
A. actor /ˈæktə(r)/
B. career /kəˈrɪə(r)/

C. rubbish /ˈrʌbɪʃ/
D. cocktail /ˈkɒkteɪl/
Question 4: Đáp án C
A. adventure /ədˈventʃə(r)/
B. advantage /ədˈvɑːntɪdʒ/

C. advertise /ˈædvətaɪz/
D. adverbial /ædˈvɜːbiəl/
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: Đáp án B
Giải thích:

A. worthless (adj.): không có giá trị

B. priceless (adj.): vô giá
C. valueless (adj.): không có giá trị

D. worthy (adj.): đáng, xứng đáng

Dịch nghĩa: Khi đám cháy bùng phát ở Louvre, ít nhất hai mươi bức tranh vô giá đã bị phá hủy, trong số đó có hai bức của Picasso.

Question 6: Đáp án B

Giải thích:

A. conversation (n.): cuộc nói chuyện
B. biodiversity (n.): đa dạng sinh học

C. extinction (n.): sự tuyệt chủng

D. destruction: sự phá hủy
Dịch nghĩa: Nếu không có đa dạng sinh học, tất cả các nguồn tài nguyên cần thiết cho sự sống sẽ bị hư hại, phung phí hoặc phá hủy.

Question 7: Đáp án D
Giải thích: Ta có cụm từ: keep pace with: bắt kịp với
Dịch nghĩa: Thật không may, công ty đã phải đóng cửa vì không thể bắt kịp với công nghệ thay đổi nhanh chóng
Question 8: Đáp án D
Giải thích: Ta có cụm stand a chance: có cơ hội đạt được thành công
Dịch nghĩa: Bạn sẽ không thể đánh bại được anh ấy. Bạn chẳng có cơ hội nào đâu. Anh ấy giỏi hơn bạn gấp trăm lần.

Question 9: Đáp án D
Giải thích: Ta có thành ngữ: red letter day: ngày đáng nhớ

Dịch nghĩa: Lễ tốt nghiệp đại học là một ngày đáng nhớ trong cả cuộc đời tôi.

Question 10: Đáp án D
Giải thích: Ta có cấu trúc prevent sb from doing sth: ngăn cản ai làm gì
Dịch nghĩa: Thiếu tiền đã ngăn cản anh tiếp tục việc học.

Question 11: Đáp án C
Giải thích: Trước chỗ trống cần điền là giới từ on, nên ta cần điền một danh từ để hoàn thành câu.

Trong các phương án đã cho, chỉ có phương án C. nationality (quốc tịch) là danh từ phù hợp với nghĩa của câu.

Dịch nghĩa: Hội Chữ thập đỏ quốc tế giúp đỡ những người có nhu cầu mà không có bất kỳ sự phân biệt đối xử nào về quốc tịch, chủng tộc, tôn giáo, giai cấp hoặc quan điểm chính trị.
Question 12: Đáp án B

Giải thích: Ta có cấu trúc thể truyền khiến have sb do sth: nhờ ai làm gì
Dịch nghĩa: Hiệu trưởng thường nhờ học sinh của mình thu thập giấy phế liệu cho dự án nhỏ của các em.

Question 13: Đáp án A
Giải thích: Ta sử dụng động từ khuyết thiếu để phỏng đoán một sự việc có khả năng xảy ra ở hiện tại, cấu trúc there must be + N (chẳc hẳn có...)

Dịch nghĩa: Họ sống trên một con đường đông đúc. Chắc hẳn phải có rất nhiều tiếng ồn giao thông.
Question 14: Đáp án C
Giải thích: cấu trúc: S + is/ am/ are + said/ reported/... + to have p.p....

Dịch nghĩa: Người ta nói cô ấy đã từng phá vỡ một số kỉ lục thế giới ở môn bơi lội.

Question 15: Đáp án B

Giải thích: Khi câu có hai chủ ngữ nối với nhau bằng as well as (cũng như), động từ trong câu sẽ chia

theo chủ ngữ thứ nhất, đồng thời trong câu có cụm từ last voyage (chuyến đi lần trước) nên động từ chia ở thời quá khứ, do vậy phương án B phù hợp nhất.

Dịch nghĩa: Thuyền trưởng cũng như tất cả các hành khách đã rất sợ hãi bởi những tiếng ồn lạ trên hành trình lần trước của họ.

Question 16: Đáp án B

Giải thích: cấu trúc câu giả định It is imperative + that + S + V (nguyên thể)

Dịch nghĩa: Điều bắt buộc là mọi người cần biết phải làm gì khi có hỏa hoạn.

Question 17: Đáp án A
Giải thích: cấu trúc đảo ngữ: Hardly had + S + p.p. +when + S + V-ed

Dịch nghĩa: Ngay khi anh ấy đến bến xe buýt thì xe buýt tới.

Question 18: Đáp án A
Giải thích: cấu trúc bị động với động từ need: need + V-ing

Dịch nghĩa: Căn phòng cần được trang trí cho đám cưới.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Đáp án D
Giải thích: The whole village was wiped out in the bombing raids. (Cả ngôi làng đã bị xóa sổ trong các cuộc tấn công ném bom).

A. removed quickly: bị loại bỏ nhanh chóng

B. cleaned well: được lau sạch

C. changed completely: bị thay đổi hoàn toàn
D. destroyed completely: bị phá hủy hoàn toàn

Như vậy, wiped out có nghĩa tương đồng với phương án D.

Question 20: Đáp án B

Giải thích: Trees have to be pruned seasonally or annually to ensure that they continue to bear fruit. (Cây trồng phải được cắt tỉa theo mùa hoặc hàng năm để đảm bảo chúng tiếp tục ra quả).

A. harvested (p.p): được thu hoạch

B. trimmed (p.p.): được cắt tỉa
C. weeded (p.p.): được nhổ cỏ

D. fertilized (p.p.): được bón phân

Như vậy, pruned có nghĩa tương đồng với phương án B.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: Đáp án B

Giải thích: She was too wet behind the ears to be in charge of such demanding tasks. (Cô ấy quá thiếu kinh nghiệm không thể phụ trách được những nhiệm vụ đòi hỏi cao như vậy).

A. lack of responsiblity: thiếu trách nhiệm
B. full of experience: giàu kinh nghiệm
C. without money: cháy túi


D. full of sincerity: chân thật

Như vậy, wet behind the ears có nghĩa tương phản với phương án B.

Question 22: Đáp án A
Giải thích: There is no excuse for your discourtesy. Think twice before you are going to say anything. (Không có lời bào chữa nào cho sự khiếm nhã của bạn. Hãy suy nghĩ kỹ trước khi bạn định nói bất cứ điều gì.)

A. politeness (n.): sự lịch sự

B. impoliteness (n.): sự khiếm nhã

C. bravery (n.): lòng dũng cảm
D. boldness (n.): tính táo bạo

Như vậy, discourtesy có nghĩa tương phản với phương án A.

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Đáp án B

Giải thích: Đoạn hội thoại trình bày quan điểm cá nhân và người đáp đồng ý với quan điểm được đưa ra.

Dịch nghĩa 4 phương án:

A. Điều này không thể được

B. Mình nghĩ cậu nói đúng (thể hiện việc đồng ý với quan điểm được đưa ra)

C. Không chút nào

D. Mình nghĩ họ tập trung nhiều hơn vào thành tựu

Dịch nghĩa: Jolie đang đọc tạp chí về người nổi tiếng, hỏi bạn của mình.

- Jolie: “Cậu có nghĩ những người nổi tiếng ngày nay có xu hướng chú tâm đến sự giàu sang nhiều hơn là thành tựu? ”

- Bạn của Jolie: “Mình nghĩ cậu nói đúng. Và điều này tạo ra tấm gương xấu cho các bạn trẻ ”.

Question 24: Đáp án A
Giải thích: Lời đáp cần đưa ra lời từ chối đề nghị giúp của người nói.

Dịch nghĩa 4 phương án:

A. Anh e là anh không thể (là câu đưa ra lời từ chối đề nghị giúp đỡ)

B. Chắc chắn rồi

C. ừ không vấn đề gì

D. Sớm quá
Dịch nghĩa: Rose đang nói chuyện với bạn mình qua điện thoại.

- Rose: “Ngày mai anh có thể đón em ở sân bay được không? ”

- Bạn của Rose: “Anh e là anh không thể. Anh sẽ có một cuộc họp lúc đó ”.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.

Question 25: Đáp án A
Giải thích: cấu trúc do more harm than good: gây ra hại nhiều hơn lợi.

Question 26: Đáp án C
Giải thích: Trước từ cần điền là danh từ parents nên ta cần một đại từ quan hệ chỉ người để điền vào chỗ trống, do vậy phương án C phù hợp.

Question 5: Đáp án B

Question 27: Đáp án B

Giải thích: Chỗ trống cần một liên từ để nối hai câu mang nghĩa tương phản: In this context, the advantages are clear (Trong phạm vi này, các lợi ích rất rõ ràng) và we cannot deny the fact that text messages have been used by bullies to intimidate fellow students (chúng ta không thể phủ nhận thực tế là tin nhắn đã bị những kẻ ức hiếp sử dụng để đe dọa bạn của mình) nên liên từ phù hợp là however.

Question 28: Đáp án A
Giải thích: Sau vị trí cần điền là danh từ evidence (minh chứng) nên ta cần điền một tính từ. Trong các

phương án chỉ có phương án A. indisputable (không thể chối cãi) là tính từ.

Question 29: Đáp án D
Giải thích: Cụm at short notice: trong thời hạn ngắn

Dịch nghĩa toàn bài:


Việc phát minh ra điện thoại di động chắc chắn đã cách mạng hóa cách mọi người giao tiếp và ảnh hưởng đến mọi khía cạnh của cuộc sống chúng ta. Vấn đề là liệu sự đổi mới công nghệ này có gây hại nhiều hơn lợi hay không. Để trả lời câu hỏi này, trước tiên chúng ta phải hướng đến các kiểu người tiêu dùng. Có lẽ, hầu hết các bậc cha mẹ mà lo lắng về sự an toàn của con cái mua điện thoại di động để theo dõi những nơi con cái nó đến. Chúng ta cũng có thể cho rằng hầu hết thanh thiếu niên muốn có điện thoại di động để không bỏ lỡ cơ hội giao tiếp với xã hội. Trong phạm vi này, những lợi ích là rõ ràng. Tuy nhiên, chúng ta không thể phủ nhận thực tế là tin nhắn đã bị những kẻ bắt nạt sử dụng để đe dọa các bạn của mình. Ngoài ra còn có bằng chứng không thể chối cãi rằng nhắn tin đã ảnh hưởng đến kỹ năng đọc viết.


Việc sử dụng rộng rãi điện thoại di động, không còn nghi ngờ gì nữa, cũng ảnh hưởng đến người tiêu dùng trưởng thành. Nhân viên nào, trên đường đi làm về, sẽ miễn cưỡng trả lời cuộc gọi từ sếp của họ? Rõ ràng, chỉ có 18% trong số chúng ta, theo một cuộc khảo sát, sẵn sàng tắt điện thoại di động sau khi rời văn phòng.


Phải thừa nhận rằng, điện thoại di động có thể xâm phạm hơi quá vào cuộc sống nhưng có những lợi ích rõ ràng khi sở hữu nó. Trên quan điểm cá nhân, điện thoại có giá trị lớn trong việc sắp xếp các kế hoạch công việc hoặc đời tư trong thời gian ngắn. Chúng cũng cung cấp cho chủ sở hữu cảm giác an toàn trong các tình huống khẩn cấp.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34

Dịch nghĩa toàn bài
	
Trong hơn 600 năm qua, tiếng Anh đã phát triển từ một ngôn ngữ ít người nói để trở thành ngôn ngữ chính ưong giao tiếp quốc tế. Tiếng Anh như chúng ta biết ngày nay đã xuất hiện1 vào khoảng năm 1350, sau khi kết hợp nhiều yếu tố của tiếng Pháp được đưa vào sau cuộc xâm lược Norman năm 1066. Cho đến những năm 1600, phần lớn tiếng Anh chỉ được nói ở Anh và không được mở rộng cho đến tận hai thế kỷ sau. Tiếng Anh bắt đầu lan rộng khắp toàn cầu do kết quả của việc thăm dò, buôn bán (bao gồm cả buôn bán nô lệ), xâm chiếm thuộc địa và việc truyền giáo. Do đó, các nhóm nhỏ người nói tiếng Anh đã được thành lập và phát triển ở nhiều nơi trên thế giới. Khi các cộng đồng này sinh sôi nảy nở2, tiếng Anh dần trở thành ngôn ngữ chính của kinh doanh quốc tế, ngân hàng và ngoại giao3.


Hiện tại, khoảng 80 phần trăm thông tin được lưu trữ trên các hệ thống máy tính trên toàn thế giới là tiếng Anh. Hai phần ba văn bản khoa học của thế giới bằng tiếng Anh và tiếng Anh là ngôn ngữ chính của công nghệ, quảng cáo, truyền thông, sân bay quốc tế và kiểm soát không lưu - Ngày nay có hơn 700 triệu người dùng tiếng Anh trên thế giới và hơn một nửa trong sổ đó không phải là người bản ngữ, tạo thành4 số lượng người nói phi bản ngữ lớn nhất so với bất kỳ ngôn ngữ nào khác trên thế giới. 
	1. emerge (v.)

2. proliferate (v.)
3. diplomacy (n.)
4. constitute (v.)


Question 30: Đáp án C
Dịch nghĩa câu hỏi: Chủ đề chính của đoạn văn là gì?

A. Ảnh hưởng của tiếng Pháp đối với tiếng Anh

B. Lịch sử rất dài của tiếng Anh

C. Sự mở rộng của tiếng Anh trở thành ngôn ngữ toàn cầu

D. Việc sử dụng tiếng Anh trong Khoa học và Công nghệ

Giải thích: Đoạn văn chủ yếu đề cập đến sự phát triển mở rộng của Tiếng Anh từ một ngôn ngữ ít người nói cho tới được sử dụng rộng rãi trên toàn thế giới, nên phương án C phù hợp. Thông tin ở các phương án A, B, D không được đề cập đến trong bài.

Question 31: Đáp án D
Dịch nghĩa câu hỏi: Khoảng khi nào tiếng Anh bắt đầu được sử dụng ngoài nước Anh?
A. vào năm 1066
B. khoảng năm 1350 

C. trước năm 1600
D. sau năm 1600

Giải thích: Thông tin có ở câu 3 đoạn 1: Until the 1600s, English was, for the most part, spoken only in England and had not extended [...]. Vậy trước năm 1600, tiếng Anh chỉ được sử dụng trong nước, và chỉ được sử dụng ngoài nước Anh từ sau năm 1600.

Question 32: Đáp án B

Dịch nghĩa câu hỏi: Theo đoạn văn, tất cả những điều sau đã góp phần lan truyền tiếng Anh trên khắp

thế giới NGOẠI TRỪ____________.

A. buôn bán nô lệ


B. cuộc xâm lược Norman

C. những người truyền giáo

D. xâm chiếm thuộc địa

Giải thích: Thông tin có ở câu 3 đoạn 1: [...] English began to spread around the globe as a result of exploration, trade (including slave trade), colonization, and missionary work. Cuộc xâm lược Norman không được đề cập nên B là phương án đúng.

Question 33: Đáp án A
Dịch nghĩa câu hỏi: Từ “enclaves ” trong đoạn 1 có thể được thay thế tốt nhất bằng từ nào sau đây?

A. các cộng đồng người
B. các tổ chức

C. các vùng


D. các quốc gia

Giải thích: Từ enclaves trong bài có nghĩa các cộng đồng người, gần nghĩa nhất với phương án A.

Question 34: Đáp án A
Dịch nghĩa câu hỏi: Từ “these” trong đoạn 2 thay thế cho___________.

A. những người sử dụng tiếng Anh

B. các hệ thống máy tính

C. các sân bay quốc tế


D. các nhân viên kiểm soát không lưu

Giải thích: Xét câu chứa từ these: Today there are more than 700 million English users in the world, and over half of these are nonnative speakers..., mệnh đề thứ nhất có English users (những người sử dụng tiếng Anh) và được nhắc lại bằng đại từ these trong mệnh đề thứ hai, do vậy phương án A phù hợp nhất
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.

Dịch nghĩa toàn bài:
	
Là một trong những thực phẩm được yêu thích nhất trên thế giới, sô-cô-la không chỉ là một món ngon hiện đại. Trên thực tế, sô-cô-la - hay đúng hơn là hạt cacao - đã là một phần trong lịch sử ẩm thực của chúng ta trong hàng ngàn năm.


Hơn 2.000 năm trước ở Trung Mỹ, người Maya bắt đầu tiêu thụ một loại đồ uống làm từ hạt cacao. Thời đó ở Mỹ chưa có đường, và vì vậy họ tăng thêm hương vị1 cho món đồ uống này bằng ớt và các loại gia vị khác. Đồ uống này được gọi xocolatl, có nghĩa là nước đắng. Người Maya đã sử dụng xocolatl cho các nghi lễ quan trọng, như nghi lễ tôn giáo hoặc đám cưới, và tin rằng uống vào sẽ tăng cường sức khỏe và chữa bệnh. Hạt giống cacao trở nên được quý trọng2 trên khắp Trung Mỹ, và thậm chí còn được người Aztec sử dụng làm tiền tệ.


Trong chuyến hành trình thứ tư tới Mỹ năm 1502, nhà thám hiểm Christopher Columbus đã đặt chân đến vùng đất mà bây giờ là Nicaragua. Ông là người châu Âu đầu tiên phát hiện ra hạt cacao được sử dụng làm tiền tệ, nhưng ông không cho rằng điều này có nhiều ý nghĩa. Chỉ sau đó, vào thế kỷ 16, một nhà thám hiểm khác, Hemando Cortez, đã nhìn thấy giá trị của cacao, và đưa món đồ uống này cùng dụng cụ pha chế trở lại Tây Ban Nha. Người Tây Ban Nha không thích vị đắng, nên thêm các thành phần khác như đường và vani, để sô-cô-la gần giống3 với vị ngọt mà chúng ta biết ngày nay.


Mặc dù phổ biến ở Tây Ban Nha, sô-cô-la không lan rộng sang phần còn lại của châu Âu cho đến gần một trăm năm sau, khi một công chúa Tây Ban Nha kết hôn với vua Pháp và khiến cho sô-cô-la trở nên thời thượng. Đến thế kỷ 17, đồ uống sô-cô-la đã trở nên phổ biến4 rộng rãi ở Pháp và một người Pháp đầy tham vọng đã mở một cửa hàng sô-cô-la đầu tiên ở Luân Đôn. Chẳng mấy chốc, đồ uống sô-cô-la đã được bán ở khắp mọi nơi ở Luân Đôn và các thợ làm bánh người Anh bắt đầu sử dụng sô- cô-la để làm bánh ngọt - đây là lần đầu tiên sô-cô-la được dùng để ăn chứ không phải để uống.


Nhưng sự phát triển lớn nhất trong tiêu thụ sô-cô-la hiện đại đã xảy ra một cách tình cờ5 vào năm 1828. C. J. Van Houten, một nhà hóa học người Hà Lan, đã phát hiện ra một phương pháp tạo ra sô-cô-la dạng bột khi anh cố gắng chiết xuất dầu từ cacao để làm cho thức uống mịn hơn. Sản phẩm này được biết đến với tên gọi là bột ca cao. Không lâu sau, vào năm 1847, một người đàn ông người Anh tên Joseph Fry đã phát triển “sô-cô-la dùng để ăn”, đó là những thanh sô-cô-la làm từ bột ca cao, bơ ca cao và đường. Phát hiện này đưa đến những thanh sô-cô-la sữa đầu tiên, được bán bởi Nestle, một công ty Thụy Sĩ. Chúng được tạo ra bằng cách thêm sữa đặc vào công thức sô-cô- la thanh của Fry. Công ty của Fry, Fry & Sons, sau đó được Cadbury mua lại. Ngày nay, Nestle và Cadbury vẫn là những nhà sản xuất sô-cô-la hàng đầu thế giới.
	1. flavor (v.)

2. highly valued (adj. phr.)

3. closely resemble (v. phr.)

4. gain popularity (v. phr.)

5. by accident (idiom)


Question 35: Đáp án A
Dịch nghĩa câu hỏi: Đâu là tiêu đề phù hợp nhất cho đoạn văn?

A. Sô-cô-la: Lịch Sử Khái Quát

B. Nấu Ăn với Sô-cô-la

C. Chế Tạo và Thưởng Thức Sô-cô-la

D. Các Công Dụng của Sô-cô-la

Giải thích: Đoạn văn đề cập đến những thông tin về sự mở rộng của sô-cô-la từ khi bắt đầu được sử dụng ở Trang Mỹ đến trở thành phố biến trên toàn thế giới nên phương án A là tiêu đề phù hợp nhất, các phương án B, C, D chỉ đề cập đến những chi tiết nhỏ trong bài.

Question 36: Đáp án C
Dịch nghĩa câu hỏi: Công dụng nào của sô-cô-la KHÔNG được nhắc đến?

A. tiền


B. thuốc
C. trang trí
D. đồ uống

Giải thích: Thông tin có ở các câu:

- Phương án B có thông tin ở câu: [...] believed that consuming it would enhance their health and cure illnesses [...|

- Phương án A có thông tin ở câu: […] were even used as currency by the Aztecs.

- Phương án D có thông tin ở câu: [...] the Mayan people began consuming a drink made from cacao seeds. Như vậy chỉ có công dụng làm đồ trang trí không được đề cập đến trong bài nên phương án C đúng.

Question 37: Đáp án B
Dịch nghĩa câu hỏi: Từ “culinary” ở đoạn 1 gần nghĩa nhất với____________.
A. truyền thống
B. liên quan tới đồ ăn

 C. hiện đại
D. hiện hành

Giải thích: Từ culinary trong đoạn 1 mang nghĩa ẩm thực nên gần nghĩa nhất với phương án B.

Question 38: Đáp án D
Dịch nghĩa câu hỏi: Sô-cô-la có nguồn gốc từ đâu?

A. Tây Ban Nha
B. Anh

C. Hà Lan
D. Châu Mỹ

Giải thích: Thông tin có ở câu 1 đoạn thứ hai: More than 2,000 years ago ỉn Central America, the Mayan people began consuming a drink made from cacao seeds. (Hơn 2.000 năm trước ở Trung Mỹ, người Maya bắt đầu tiêu thụ một loại đồ uống làm từ hạt cacao), vậy hạt cacao hay sô-cô-la được tiêu thụ đầu tiên ở Trung Mỹ.

Question 39: Đáp án A

Dịch nghĩa câu hỏi: Từ “it” ở đoạn thứ 2 thay thế cho____________.

A. xocolatl
B. hạt cacao

C. đườnng
D. nước

Giải thích: Xét câu chứa từ it: he Mayans used xocolatl for important rituals, such as religious ceremonies or weddings, and believed that consuming it would enhance their health and cure ill-nesses. Mệnh đề thứ nhất có xocolatl (đồ uống xocolatl), và được thay thế bằng tân ngữ it trong mệnh đề thứ hai nên phương án A đúng.

Question 40: Đáp án C
Dịch nghĩa câu hỏi: Từ “take to” ở đoạn 3 gần nghĩa nhất với____________.

A. nấu ăn
B. phát triển

C. thích
D. chấp nhận

Giải thích: Từ take to trong đoạn 3 mang nghĩa ưa thích, nên gần nghĩa nhất với phương án C.

Question 41: Đáp án A

Dịch nghĩa câu hỏi: C. J. Can Houten đã làm gì để đóng góp vào lịch sử của sô-cô-la?

A. Ông khám phá ra một phương thức mới để thưởng thức sô-cô-la.

B. Ông thêm hương vị ngọt vào sô-cô-la.

C. Ông làm thành các thanh sô-cô-la.

D. Ông dùng nó để làm thuốc.

Giải thích: Thông tin có ở câu 2 đoạn 5: C. J. Van Houten, a Dutch chemist, discovered a method for making powdered chocolate […]. Vậy C. J. Van Houten đã chế tạo ra bột sô-cô-la, một cách thưởng thức sô-cô-la khác với trước đó.

Question 42: Đáp án D
Dịch nghĩa câu hỏi: Phát biểu nào sau đây về sô-cô-la thanh hiện đại KHÔNG đúng?

A. Chúng được làm từ bột ca cao, bơ ca cao và đường.

B. Chúng được phát triển bởi một người Anh
C. Chúng được bán bởi Nestle và Cadbury.

D. Các thanh sô-cô-la của Nestle giống như các thanh được phát triển bởi Joseph Fry.

Giải thích: Thông tin có ở câu 6 đoạn 5: These were created by adding condensed milk to Fry’s chocolate bar recipe. Như vậy sô-cô-la thanh của Nestle khác với công thức ban đầu của Joseph Fry, nên phát biểu ở phương án D không đúng.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: Đáp án D
as full as possible → as fullly as possible

Giải thích: Bổ nghĩa cho động từ understand (hiểu) phải là một trạng từ, từ full là tính từ cần được sửa lại thành trạng từ fully.

Dịch nghĩa: Giới trẻ được coi là những nhà lãnh đạo tương lai của đất nước, và điều cần thiết là họ hiểu được những di sản của mình một cách đầy đủ nhất có thể.

Question 44: Đáp án B
they → ∅ 
Giải thích: Trong câu đã có chủ ngữ digital docks (đồng hồ kĩ thuật số) nên thừa chủ ngữ they. 
Dịch nghĩa: Đồng hồ kỹ thuật số, dù có chính xác cỡ nào, cũng không thể chính xác hoàn toàn vì vòng quay trái đất có những thay đổi nhỏ qua năm tháng.

Question 45: Đáp án C
that → which

Giải thích: the characters and events are usually imaginary là mệnh đề quan hệ bổ nghĩa cho danh từ book (cuốn sách) phía trước, nên ta sử dụng cụm trạng từ quan hệ in which (=where).

Dịch nghĩa: Một cuốn tiểu thuyết là một câu chuyện đủ dài để tạo thành một cuốn sách hoàn chỉnh, trong đó các nhân vật và sự kiện thường là tưởng tượng.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: Đáp án C
Giải thích: The film didn’t come op to my expectation. (Bộ phim không như mong đợi của tôi).
Dịch nghĩa các phương án:

A. Tôi dự đoán bộ phim sẽ kết thúc đột ngột hơn.

B. Tôi dự đoán bộ phim sẽ nhàm chán hơn.

C. Bộ phim không như tôi mong đợi.

D. Bộ phim hay như tôi mong đợi. 
Phương án C có nghĩa phù hợp nhất với nghĩa của câu đề bài cho.

Question 47: Đáp án D
Giải thích: “Be careful or you may get lost and run out of money,” she said. (Cô ấy nói: ''Hãy cẩn thận không thì cậu sẽ bị lạc và hết tiền.")

là lời nói trực tiếp dưới dạng câu mệnh lệnh để đưa ra lời khuyên nên trong câu gián tiếp, ta dùng động từ advised (khuyên) để tường thuật lại.

Dịch nghĩa: Cô ấy khuyên tôi nên cẩn thận nếu không tôi có thể bị lạc và hết tiền
Question 48: Đáp án B
Giải thích: Although the teacher explained the theory dearly, the students found it hard to understand it. (Mặc dù giảng viên giải thích học thuyết đó rõ ràng, các sinh viên vẫn thấy khó hiểu). Phương án A, C, D không phù hợp vì:

A. the theory of teaching (lý thuyết giảng dạy) không ldióp với danh từ the theory ở đề bài. 
C. the teacher không được nhắc đến trong câu

D. the teaching theory (lý thuyết giảng dạy) không khớp với danh từ the theory ở đề bài
Phương án phù hợp nhất về nghĩa và cấu trúc ngữ pháp là phương án B.

Dịch nghĩa: Mặc dù giảng viên giải thích rõ ràng về học thuyết, sinh viên vẫn gặp khó khăn trong việc hiểu nó.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: Đáp án D
Giải thích: We should quickly find the solution to the problem. Otherwise, its impact on those

concerned will increase. (Chúng ta nên nhanh chóng tìm ra giải pháp cho vấn đề. Nếu không, tác động của nó đối với những người liên quan sẽ gia tăng).

Hai câu đề bài cho có mối quan hệ nguyên nhân kết quả và thời gian (càng sớm tìm ra giải pháp thì tác động sẽ càng giảm đi) nên ta sử dụng so sánh kép đề kết hợp câu: The + adj-er..., the + adj-er... (càng... càng...)

Dịch nghĩa: Chúng ta càng sớm tìm ra giải pháp cho vấn đề thì tác động của nó lên những người liên quan càng thấp.

Question 50: Đáp án B
Giải thích: Luisa was very disappointed when she failed the exam. I’m sure about that. (Luisa đã rất thất vọng khi cô ấy thi trượt. Tôi biết chắc điều này).

Trong hai câu đã cho thể hiện sự phỏng đoán chắc chắn về một sự việc đã xảy ra trong quá khứ, nên ta dùng cấu trúc với động từ khuyết thiếu must have p.p. để kết hợp câu.

Dịch nghĩa: Luisa chắc hẳn đã rất thất vọng khi cô ấy thi trượt
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